IMMACULATE CONCEPTION COLLEGE
170, M.M. WAY, BCNIN CITY
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SUBJECT:  MATHEMATICS
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SECTION A:  OBJECTIVE QUESTIONS.    (50 MARKS

1. Efosa and Uyi shared a sum of N7200 in the ratio of 4:5.  Find the amount that went to Uyi. (a) N32.00                            (b) N40.00 (c) N3200 (d) N4000
2. In an inter-house sports competition, a boy runs 100 metres in 10 seconds.  Find the speed in km per hour                                     (a) 10km/h (b) 15km/h (c) 26km/h (d) 36km/h
3. 16 children ate a crate of eggs in 9 days.  How long will the same crate of eggs last 12 children? (a) 10 days                                  (b) 12days (c) 13days (d) 15days
4. How many minutes are there from 08.15hours to 15.45hours?  (a) 400 minutes (b) 420 minutes (c) 450 minutes (d) 550 minutes
5. Mrs Chichi Eke was born in 1929, how old was she in 1980?  (a) 51years (b) 60years (c) 65years (d) 70years
6. A basket contains 195 oranges.  How many groups of 5 oranges are there? (a) 40 (b) 39 (c) 20 (d) 19
7. Which of these numbers 9, 15, 19, 21, 23, 27, 29 and 31 are prime numbers (a) 9, 15, 23 and 27 (b) 23, 27, 29 and 31 (c) 19, 21, 23 and 27 (d) 19, 23, 29 and 31
8. Put the correct sign in the space below ¼               (a)     (b)     (c)      (d)   
9. Find the mode of the set of numbers: 6, 7, 5, 6, 10, 3, 4, 8, 6, 2, 7, 5. (a) 5 (b) 6 (c) 7 (d) 8
10. Express in words 3804160.09 (a) Three hundred and eighty million, four hundred and sixteen thousand and point nine (b) Three million, eight hundred and four thousand, one hundred and sixty point zero ninety (c) Thirty-eight million, four thousand, one hundred and sixty point ninety (d) Thirty-eight thousand, four hundred and sixteen point zero 9.
11. How many 60’s can be subtracted from 300 (a) 4 (b) 5 (c) 8 (d) 10
12. What is the total weight of the boxes below 3kg 82g, 2kg 520g and 1kg 759g? (a) 8.101kg (b) 7.361kg                          (c) 7.101kg (d) 6.361kg
13. Express 42 as a product of prime factors (a) 6 x 7 (b) 2 x 21 (c) 2 x 3 x 7 (d) 3 x 14
14. How many thousands are there in 865204? (a) 860000 (b) 865 (c) 80 (d) 8000
15. The instrument used in measuring angles is called----(a) pair of compass (b) protractor (c) pair of divider (d) ruler
16. Out of 6873 candidates who sat for an examination, 5739 passed.  How many failed? (a) 134 (b) 1034 (c) 1134 (d) 2134
17. Find the H.C.F. of 18, 27 and 36 (a) 3 (b) 6 (c) 9 (d) 18
18. Simplify 1½ - 3/5 x 2/3 (a) 3/5 (b) 11/5 (c) 11/10 (d) 9/10 
19. Which one of the following is not equivalent to ½ ? (a) 9/18 (b) 11/22 (c) 15/30 (d) 24/42
20. What is the perimeter of a rectangle of sides 10cm by 5cm? (a) 15cm (b) 20cm (c) 30cm (d) 50cm
21. How many lines of symmetry does the figure below have







(a) 1 (b) 2 (c) 3 (d) 4
22. Find the area of square of sides 8m (a) 32m2 (b) 16m2 (c) 64m2 (d) 14m2
23. Find the difference between 0.00986 and 0.01 (a) 0.00986 (b) 0.00985 (c) 0.0014 (d) 0.00014
24. N6000 was borrowed at an interest rate of 7% per annum.  The simple interest for 3 years is (a) N260 (b) N1260 (c) N1600 (d) N2600
25. What is the name of the triangle below?




 (
60
0
60
0
60
0
)




(a) Equilateral triangle (b) Isosceles triangle (c) scalene triangle (d) Right-angled triangle
26.  (
B
)In the diagram below, line AC is called
 (
A
)




 (
C
) (
D
)

(a) Base line (b) Diagonal (c) parallel line (d) straight line
27. Find the difference between LXVI and XCI (a) 25 (b) 45 (c) 66 (d) 91
28. A trader sold an article for N150 and made a profit of 20%.  What was the cost price of the article? (a) N20                        (b) N120 (c) N125 (d) N150
29. A book, which costs N300.00 was sold for N240.00.  What was the loss percentage? (as) 6% (b) 12% (c) 15%                                             (d) 20%
30. 30% of N1500 is (a) N300 (b) N400 (c) N500 (d) N1200
31. Arrange 7/8, ¼, ½, 1/3 in descending order (a) (a) ¼, 1/3, ½, 7/8  (b) 7/8, 1/3, 1/2, 1/4  (c) 7/8, ½, 1/3, ¼  (d) 1/3, ½, ¼, 7/8 
32. Solve 3x – 4 = 8 + x.  The value of x is (a) 3 (b) 6 (c) 8 (d) 12
33. Find the area of the figure below:
 (
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m
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cm
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(a) 246cm2 (b) 150cm2 (c) 50cm2 (d) 45cm2
34. If 5 people can finish 3 cups of rice, how many cups of rice will 35 people eat at the same rate?  (a) 35 cups (b) 21 cups (c) 15cups (d) 7cups
35. Find the value of x in the diagram below
 (
150
0
x
)






(a) 300 (b) 600 (c) 1200 (d) 1500
36. Find the perimeter of a circle of radius 7cm (a) 154cm (b) 49cm (c) 44cm (d) 22cm
37. Calculate the volume of a cuboid with length 10cm, breadth 5cm and height 3cm (a) 150cm3 (b) 80cm3 (c) 45cm3 (d) 18cm3 
38. How many faces has a cube of sugar? (a) 6 (b) 5 (c) 4 (d) 3




39. 








What is the name of the figure above? (a) Circle (b) cylinder (c) rhombus (d) Quadrilateral
40. Which of the following is not a member of the group (a) cube (b) cuboid (c) triangle (d) cylinder 
Sample:
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Use the above sample to answer questions 41 to 43

41.  (
4
9
x
)

(a) 5 (b) 13 (c) 36 (d) 169



 (
x
8
144
)
42. 





(a) 136 (b) 18 (c) 12 (d) 4

 (
7
x
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)
43. 




(a) 218 (b) 15 (c) 8 (d) 6
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Use the above samples to answer questions 44 to 46
 (
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  3
  5
)
44.   
(a) 6 (b) 13 (c) 18 (d) 20

 (
24
  
  
8
19  
)

	
45.                                        (a) 3 (b) 16 (c) 5 (d) 27



46.  (
6
16
12
)
(a) 1 (b) 2 (c) 18 (d) 30                                                



    SAMPLE:
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Use the above samples to answer questions 47 to 50

47.  (
12
14
7
) 
	
	(a) 19 (b) 2 (c) 26 (d) 5

 (
11
18
2
)

48.                                    (a) 13 (b) 7 (c) 20 (d) 9


 (
17
4
13
)
                                  (a) 17 (b) 26 (c) 27 (d) 30
49. 


 (
7
8
4
)
                                  (a) 11 (b) 12 (c) 15 (d) 28
50.   


SECTION B: THEORY
Answer all questions   (50 Marks)

1. Find the area of carpet, which covers the floor of a room 16m long, 11m wide and 9m high.
2. Calculate the area of a circle whose circumference is 44cm.
3. Simplify: 1½ of ¼ + 5½  ¾ 
4. A woman bought 200 oranges and sold 40% of them.  How many oranges would she have left?
5. The total number of students in a school is 720.  If there are 420 girls in the school, Find the ratio of boys to girls.                                    
4

